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[EEY

0.5

13000 GeV pp i
L R A A L R I R
= . . — 3
— M(ttbar) (ATLAS semileptonic ttbar) 43
u =
B m ATLAS -
- —A— Pythia 6.428 370 An
. —-8-- Pythia 6.428 391 | 9!
Pythia 6.428 default ;
| —&— Pythia 8.308 default ] §
- |
%)
B 1M
@
(40
©
— 1o
— 1M
_ |
- 1%
- 4%
B .5,
B i
(@)
c
i 15
Q
[%2]
= _|o
— -1 O
— =
[ | | ' | | | | | | I I | | |_ E

— T T [ f T T T [ T T t 1 |:

- =P
.......... 1

B —0.5

. l . . l , ! . ) ) . ) . ) |

1000 2000 3000

m2 [GeVv], pth"”{t} in [40,150] [GeV]



	Contents
	Page 1


